
End of unit check

1  What is 16,762 + 3,511?

A  19,273 B  41,872 C  51,872  D  20,273

2  Which number is missing from this calculation?

 7,600 +  = 10,000

A  17,600 B  3,400 C  2,400 D  12,400

3  Kate has £1,260.

  Mark has £275 more than Kate.

  How much money do they have altogether?

A  £2,255 B  £2,795 C  £995 D  £1,535

4  What is eighty less than three hundred thousand?

A  200,020 B  299,920 C  299,200 D  209,920
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5  What is the difference between X and Y?

A  216 B  1,216 C  2,088 D  7,656

6  The distance from Earth to the Moon is 384,000 km.

 A rocket travels 138,000 km each day.

 How many days will it take to reach the Moon?

 It will take  days to reach the Moon.

7  There are 4,500 trees in a forest.

 1,219 trees are cut down. 

       2,175 trees are planted.

       How many trees are in the forest now?

 There are  trees in the forest now.

5,0000 1,000

2,784

2,000 3,000 4,000

4,872
X Y
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